1. Which statement is true about these two series?
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Both are conditionally convergent.
One is divergent and one is absolutely convergent.
Both are absolutely convergent.

. One is absolutely convergent and one is conditionally convergent.
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must be absolutely convergent. I

. must be divergent.
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C. must be conditionally convergent. »

D. converges or diverges; the given information is inconclusive.
E

. converges; either conditional or absolute convergence can occur.




3. How many of these series converge?
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4. According to the Alternatlng Series Estimation Theorem, for which n is the following true?
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5. Which of these z values is in the interval of convergence of the following power series?
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6. Find the Maclaurin series for
f(x) — __3x2__
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Hint: f is the derivative of a function with an easy Maclaurin formula
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7. Find the first few terms of the Taylor series centered at a = 1 for the function f(z) = +/z
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8. Use a Maclaurin series to choose the best estimate of

/0 " sin(z?) dx
Hint: cosz = ;(—1)" (;n) and [sinz = ; )Wfor all z
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9. Find the Maclaurin series for f(z) = .= 01—)() = i X
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10. Match the parametric equations with the correct graph. GC/ \/) isin al “FDU!‘ qucujf‘a ofs
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11. Consider the parametric equations
r=2%+3t2 — 12, y=2243t>+2.

Find a point (z,y) where the tangent is vertical.
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12. A curve C is defined by the parametric equations z = ¢ — 12¢, y = t*> — 1. Find all the
values of ¢ for which C is concave down.
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